
Net Planter is a reinforced concrete planter in clear reference to 
the traditional ceramic vessels, with the formal characteristics simi-
lar to the Net bin, the original element of the collection. Its friendly 
and rounded shapes facilitate its integration in any environment, 
both exterior and interior. Its installation can be in isolation or in 
combination with the bin-ashtray of the same collection.

  Update 17.03.2022

Concrete   |    71 cm  |     330 kg   |     120 L  

NET PLANTER
D

iego
 F

o
rtu

n
ato

 2
0

1
9



NET PLANTER
Origin

Net Planter emerges as a review of 
the design of the Net ash tray with 
the objective of creating a modera-
te volume planter, suitable for me-
dium-sized plants, with a capacity 
of 120 liters.

Material 

Monomaterial body of concrete 
reinforced with stainless steel.  
Soft etched and water-repellent 
finish. Supplied in the all Escofet 
standard chart colours.  
 

Installation

Concealed installation by means of 
three threaded Din 931 M16 x 140 
mm bolts with a rustproof protecti-
ve finish in holes previously drilled 
in the paving and filled with epoxy 
resin or rich mortar. Drainage by 
central hole of 3 cm. diameter.

 



NET PLANTER



NET PLANTER
1. Planter 

Net Planter

Dimensions Ø 71 x 82 cm

Weight 330 kg

Capacity 120 L

1.1 General features

Material Reinforced concrete Fixing Anchored with screws

Finish Etched and waterproofed

Colours

GR. Grey BL. White CA. CA Grey

RA. Red BG. Beige

1.2 Installation system

Hoisting
(W= 330 kg / with soil P=535 kg)

Installation
Tightly screw the 3 stud bolts M16 x 140.
Drill pavement (Ø40 x 180 mm)
and fill with resin or fat morter.
Centre and caulk.

Ø3

Ø33

10

12
0°

82 81
1

8

Ø52
Ø32

Ø71

®

CARACTERÍSTICAS / CHARACTERISTICS

MATERIAL
COLOR
ACABADO
COLOC.

PESO

INSTALACIÓN / INSTALATION GEOMETRÍA / GEOMETRY

MATERIAL
COLOUR
FINISH
FIXING

WEIGHT

Cotas / Sizes cm
Update

CAPACIDAD CAPACITY

hormigón / hormigón reciclado
carta colores estándar
decapado e hidrofugado
anclado con tornillos /

concrete / recycled concrete
standard color chart
etched and waterproofed
anchored with screws /

N
E

T P
LA

N
TE

R

21/09/2018

E:1/20E:1/30

D
iego Fortunato

BOTTOM

610 kg

TOP

FRONT

610 kg

E:1/50

polyester slings

Ø40mm

SECTION

apoyado sin anclaje free-standing

roscar 2 tornillos a fondo (Din 931 M16 x 140 mm)
taladrar el pavimento (Ø40x180) y rellenar de resina
o mortero rico

tightly screw stud bolts (Din 931 M16 x 140 mm)
drill the pavement (Ø40x180) fill with resin or fat mortar

120 L 120 L

NET PLANTER

NET BIN



NET PLANTER
1.3 Geometry

Net Planter

Ø3

Ø33

10

12
0°

82 81
1

8

Ø52
Ø32

Ø71

®

CARACTERÍSTICAS / CHARACTERISTICS

MATERIAL
COLOR
ACABADO
COLOC.

PESO

INSTALACIÓN / INSTALATION GEOMETRÍA / GEOMETRY

MATERIAL
COLOUR
FINISH
FIXING

WEIGHT

Cotas / Sizes cm
Update

CAPACIDAD CAPACITY

hormigón / hormigón reciclado
carta colores estándar
decapado e hidrofugado
anclado con tornillos /

concrete / recycled concrete
standard color chart
etched and waterproofed
anchored with screws /

N
E

T P
LA

N
TE

R

21/09/2018

E:1/20E:1/30

D
iego Fortunato

BOTTOM

610 kg

TOP

FRONT

610 kg

E:1/50

polyester slings

Ø40mm

SECTION

apoyado sin anclaje free-standing

roscar 2 tornillos a fondo (Din 931 M16 x 140 mm)
taladrar el pavimento (Ø40x180) y rellenar de resina
o mortero rico

tightly screw stud bolts (Din 931 M16 x 140 mm)
drill the pavement (Ø40x180) fill with resin or fat mortar

120 L 120 L

NET PLANTER

NET BIN

Ø3

Ø33

10

12
0°

82 81
1

8

Ø52
Ø32

Ø71

®
CARACTERÍSTICAS / CHARACTERISTICS

MATERIAL
COLOR
ACABADO
COLOC.

PESO

INSTALACIÓN / INSTALATION GEOMETRÍA / GEOMETRY

MATERIAL
COLOUR
FINISH
FIXING

WEIGHT

Cotas / Sizes cm
Update

CAPACIDAD CAPACITY

hormigón / hormigón reciclado
carta colores estándar
decapado e hidrofugado
anclado con tornillos /

concrete / recycled concrete
standard color chart
etched and waterproofed
anchored with screws /

N
E

T P
LA

N
TE

R

21/09/2018

E:1/20E:1/30

D
iego Fortunato

BOTTOM

610 kg

TOP

FRONT

610 kg

E:1/50

polyester slings

Ø40mm

SECTION

apoyado sin anclaje free-standing

roscar 2 tornillos a fondo (Din 931 M16 x 140 mm)
taladrar el pavimento (Ø40x180) y rellenar de resina
o mortero rico

tightly screw stud bolts (Din 931 M16 x 140 mm)
drill the pavement (Ø40x180) fill with resin or fat mortar

120 L 120 L

NET PLANTER

NET BIN

Aggregation with Net 



NET PLANTER

 Warranty  

5 years in concrete elements. 

The names, trademarks and industrial models of the pro-
ducts have been logged in the corresponding registers. 
The technical information provided by Escofet about its 
products can be modified without prior notice.

ER-0403/2016SST-0090/2010GA-2005/0072

Escofet 1886 S.A
Head office and production

Montserrat, 162
E 08760 Martorell
Barcelona - España
T. 0034 937 737 150
F. 0034 937 737 151

info@escofet.com
www.escofet.com


